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. [5 kW]
5P AHEL AHEL AHEL AHEL AHEL
HAHNFEIERHBEROT [FRENR/IEGZ (%) 4818(8) 121305 ~138 |48288(8) 118304 ~1285 |5H4H (1) 118309~1285 |6 H2H(H) 1285~128530% |6 H4H(N) 12830~138
_ (BEAE] (E ] (BEAE] (4] (BEE] (4] (BEAE] (4] (BEEE] (4]
F£HAH (EH) 2024.4.1(8)|2023.4.10(8)[2024.4.28(2)[ 2023.5.3(7K)[2024.5.4(+)[ 2023.5.3(7K )| 2024.6.2(8)[ 2021.6.6(H )| 2024.6.4(:)[ 2024.5.29(7K)
PN i i i 5 5 5 = = i) i)
Som (°C) 19.7 17.4 22.9 22.7 22.9 22.7 22.8 23.1 22.8 22.0
EEaE |URROE FECEURVRUET (19C~24°C) 0 20.0/5kW/C 0.03kwW/C 0.03kwW/C 0.03kwW/C 0.03kw/C
BEDEEEED 20.0..] 857.0 —. L 715.0 —..L715.0 — L 749.2 —....L_916.3
BE SR =EQ (HES0:TSENES(CH) | A 32.0 (19C-17.40)xa| 0.0 BECHELLLR 0.0 ®mEFELBLR 0.0  ®mEHELBLR 0.0 ®mEHELBLR
BkW) | el (xORHOBE) O@=0+@| 825.0 [ omn © | 715.0 [Be O | 7150 B2 00 | 7402 [BEUCY | 9163 Mo C”
[Gebakic) (HHAAZE] [ HA8ZE] [ HI8ZE] [ HA8%E]
HE=aME (MJ / m) 2.91 ~ 3.96 2.05 ~ 3.48 1.89 ~ 4.24 2.67 ~ 3.99 2.53 ~ 3.54
s LS 0.286 0.286 0.274 0.270 0.270
mEgy |51 0.275 0.275 0.264 0.266 0.266
(kwh/M3  |{EJE10kWEL E 0.259 0.259 0.245 0.241 0.241
KIERD /i/KW) 1KE 10KWKTE 0.224 0.224 0.210 0.201 0.201
e Be®@ 199.6 172.4 158.9 199.6 211.0
HDEE | pnmeemec) [BEO 327.3 274.3 265.9 313.7 314.4
(FFkw) RE10KWIL E® 237.5 200.1 196.5 226.9 233.6
EE10KWEEH® 156.5 136.6 125.7 136.3 139.2
BEEFCEESE(2) (FkW) (IEE10kWREOHERE) | A 19.8 A 19.0 A 19.1 A 18.8 A 19.6
=10 @D+0+®+D+® 901.1 764.4 727.9 857.7 878.6
— R 56.5 56.5 59.7 58.2 58.2
: BEUATD 5.5 5.4 5.4 6.5 6.5
Bao | PV (& @) 62.0 61.9 65.1 64.7 64.7
whtagE [ BHEEE Lol 7.6 2.8 12.9 5.3 10.9
(FFkw) BEEUTG = @x (@/0) 0.7 0.2 1.1 0.6 1.2
25t® @+ ® 8.3 3.0 14.0 5.9 12.1
(eiBEHE) | [MEREBEV] | (fAHE] | [MAREBEL] | (a1AHiE] | [MEREL] | (F185E] | (MEREL) | (FiEsE]| (HERIEU]
(F) AEHELTHASHUDIERT ZRERES (M) 95.1 80.5 72.6 80.3 108.6
(G) MENELTHAHUHRERL TOBVRBRRESE (XN)
(L) EFH 298.9 299.2 299.3 298.0 334.2
@) —R%KA 77.7 36.1 50.4 57.3 44.7
Ty (K) : HhEL 16.2 16.8 16.2 13.1 13.1
e (H) S\ AAYREHRER 32.8 29.5 27.4 20.8 21.8
TR | T (1) &R/ (A AT R 24.9 25.5 25.2 26.9 26.2
(Fkw) (E-1) ABHO 011 | wpssims 224 | wpemEirs 2222 | upgEUNS o2l | unEE s —olo0 | waaELss
RAH®@ 8.3 i 3.0 i 14.0 i 5.9 i 12.1 Ryl
AA—TEi (E-2) EERES 222.0 i 378.0 i 263.0 " 149.3 ° 96.7 °
TRI4E 3 | TU7#EH 56 1,743.2 1,685.0 1,520.6 1,558.8 1,601.2
(A IV7RE (X)) ©® 825.0 715.0 715.0 749.2 916.3
WK |(C-1)  BKAEEHROBKEEL® A 154.2 A 185.2 A 185.2 A 219.2 A 219.2
TU7 |EerE|(C-2) BHHEEEORED A 5.0 A 5.0 A 5.0 A 5.0 A 5.0
zEZ| B [((B-1) HITEBEHOEIMNEXEEIB A 2257 A 127.0 A 87.3 A 195.0 A 220.0
[ XE |(B-2) FEAMLSERSEHEE = RAEHOQ © 0.0 0.0 0.0 0.0 0.0
IV7REE 5T0=0— (©+D+B®+1®) 1,209.9 1,032.2 992.5 1,168.4 1,360.5
(AAstE] | [MBAREL] [(FAHE)]| [(MAREL] | [(FiE:E] | [(MEREBEL] | (aiHEHE] | (MEAREL] | [(FiEHE] | (MEREL]
S TU7B4a7] 510 1,743.2 1,685.0 1,520.6 1,558.8 1,601.2
(kW) IV7EEE 5T@ 1,209.9 1,032.2 992.5 1,168.4 1,360.5
rBls€31 |(D),(d) IREETHHAAEFIREED = (D - @) 533.3 652.8 528.1 390.4 240.7
(x1) Mhm1i~670E5t
(%2) MIR1~670EE10KWREOEET —42E(C. BEGOEEBFEEEZE
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(g) A—N—K—ITHEFIEP(~2024/11)
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(m) BIHEBERESICLBHIEM
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BAaERIL—IVIcE D<HH), hE (1) 4A1H(A) 4A28H(H) 5A4H (%) 6H2H(H) 6H4H(X)
WENELT | R RN BEEHO]BIHAEQ| 2R (0-0) | 2RIEHO)| REL OB 28 (@-0) | ERERCL) | BEEAO] IR EQ| 28 (0-0) | 2REHOK)| BELHO fiHE[ 2R @-0) | 2EBROK) | BEE D] B0 BEQ| 2R (0-0) | ZRIBH(X)
H5NUHIEERT bl VNG 32.7 32.7 0.0 20.3 20.3 0.0 12.4 12.4 0.0 28.1 28.1 0.0 28.1 28.1 0.0
PRERFEE =it 8.7 8.7 0.0 8.7 8.7 0.0 8.7 8.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(KA) LNG NE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L F CHa%EH RS (AVSAVR) 53.7 53.7 0.0 51.5 51.5 0.0 51.5 51.5 0.0 52.2 52.2 0.0 55.5 80.5 25.0 (b)
2 %tERDFEE =it 95.1 95.1 0.0 = 80.5 80.5 0.0 = 72.6 72.6 0.0 = 80.3 80.3 0.0 = 83.6 108.6 0.0 =
BEREI-IVICEDINE, HZE (2) 4H1HA) 4H28H(H) 5H4H(%) 6H2H(H) 6H4H(N)
FEM S BKENHO|FIHEETEIQ| 228 (0-0) |EZRIER(C)|HKEHO|FIHTEQ| 2R (@-0) | ZEBHC)|B/KEHO|IETEO| 22 (0-0) | EZRERCO)|HBKEHO|aBTEQ |28 (@-0) | ZZRIBACK)|IHB/KENO|BIHEO| 28 (0-0) | ZREBH(X)
K 1 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0
2 A26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0 A 26.1 | A26.1 0.0
AENELT e 1 A 32.5 0.0 32.5 (k) A 325 | A325 0.0 A 325 | A325 0.0 A 325 | A325 0.0 A 325 | A325 0.0
H5NUHIERT 2 A 32.5 0.0 32.5 (k) A 325 | A325 0.0 A 325 | A325 0.0 A 325 | A325 0.0 A 325 | A325 0.0
PRERFEE 1 A 340 | A34.0 0.0 A 340 | A34.0 0.0 A 340 | A34.0 0.0 A 340 | A34.0 0.0 A 340 | A34.0 0.0
(#37K) NI 2 A 34.0 0.0 34.0 (9) A 34.0 0.0 34.0 (9) A 34.0 0.0 34.0 (g9) A 34.0 0.0 34.0 (g9) A 34.0 0.0 34.0 (g9)
3 A 340 | A34.0 0.0 A 34.0 0.0 34.0 (k) A 34.0 0.0 34.0 (k) A 340 | A34.0 0.0 A 340 | A34.0 0.0
4 A 340 | A34.0 0.0 A 340 | A34.0 0.0 A 340 | A34.0 0.0 A 340 | A 34.0 0.0 A 340 | A34.0 0.0
st A 253.2| A 154.2| 99.0 = A 253.2| A 185.2| 68.0 = A 253.2| A 185.2| 68.0 = A 253.2| A 219.2| 34.0 = A 253.2| A 219.2| 34.0 =
BERBI-IVICEIUNG, HEE (3) 481HA) 4H28H(H) 584H(1) 6H2H(H) 6H4H(N)
wHRNTYARERD o BT BIHETEQ| 2R (0-0) |ZEBHCK)|reaxeno| giHEEE| 28 @-0) | ZREBHCK)|rearero| fIHFTEQ |28 (@-0) |EZEERC) |rasrero| fiHAEQ|[ 2R (0-0) |ZEBR(K)|wesxeno| fiHETEO |28 (@-0) | ZREH(X)
gEmmorE [T | A50 | A5.0 0.0 A50 | A50 0.0 A50 | A50 0.0 A50 | A50 0.0 A50 | A50 0.0
EBEBREI-IICEDGNE, RE (4) 4H1HH) 4H28H(H) 5H4H(1) 6H2H(H) 6H4H(N)
15 RET | o |WEEHEO| 2% 0-0) [Erimmco| FE200 mastEe |28 0-o |ERrimmeo| Fo Y [ masEe |2 -0 |ERimmeo| mae Y | masEe 2R -0 |Emmmeo| Faw - | EEHE 2% @-o) |#mmn(x)
0.0 0.0 0.0 0.0 0.0
i A 10%] 0.0 0.0 [0%] 0.0 0.0 10%] 0.0 0.0 10%] 0.0 0.0 10%] 0.0 0.0
BEHLLTHS| 27.2 27.2 0.0 27.2 27.2
UL T B 2091 | 36 9.7 (a) o] | 272 0.0 10%] 0.0 0.0 201 | 272 0.0 2091 | 36 9.7 (a)
ROVWRESRIRES Poalic! 29.5 28.9 19.9 24.3 19.9 24.1 27.8 22.1 27.8 27.9
A0, . . A5, .
XA)  |pimp| wesmoneersas] [22%] | [22%] 0° ) [16%] | [20%] | ** ® [16%] | [20%] | *2 (b) [20%] | [16%] > (h) 20%1 | r20%1 | %1 (®)
sig |CmEoREsn [ (49.2) (49.2) (49.2) (49.2) (49.2)
- () NG DRmELRF [250/0] [25%] [250/0] [250/0] [250/0]
BZRERE 10.0 0.4 A 9.6 (f) 10.0 0.5 A 9.5 (f) 10.0 0.5 A 9.5 (f) 10.0 0.2 A 9.8 (f) 10.0 0.4 A 9.6 (f)
a5t 66.7 66.2 A 0.5 57.1 52.0 A 5.1 29.9 24.6 A 5.3 65.0 49.5 A 15.5 65.0 65.2 0.2
BERBI-IVICEDIUNH, #EE (5) 4H1HH) 4H28H(H) 5H4H(1) 6H2H(H) 6H4H(N)
4371,9‘|‘IF3E¥’?? BIE 1 2 BB 1_ ;E EE RIE 1 2 Bl 1_ ;E EE RAIE 1 2 Bl 1_ ;E EE RAIE 1 2 Bl 1_ ;E EE BIE 1 2 BB = 1_ ;E EE
. . ~ BIEZRTK | pzeago x1 | GIHETEIQ | 28 (0-0) | EZEIBR(X)] ozzzo x1 | IHETEIQ | 28 (@-0) | EZBRIER(X)| ozazo x1 | BIHETEIQ | 28 (@-0) | EZEIER(X)| ozago x1 [BIHETEHEIQ | 28 (@-0) | EZRIBR(X)| oz=ag0 x1 [BIHETEHEIQ |28 (@-0) | EZEIER(X
ERMEEARSAS | (grgmzim) | cmsw | GOl e | Ul e |” GOl e |7 OOl e | 9
(GERHRER) *1 ZEE= (TUED 0.0 47.8 63.4 0.0 0.0
“oERmaERan | o5y | 00 0.0 a74.8) | %0 47.8 W Jason | 00 634 O Jaos.o | 20 0.0 @200 | °0 0.0
BRRBI-IIVCEDUH, R (6) 481H(B) 4H28H(H) 5H4H(%) 6H2H(H) 6H4H(N)
BRULRIE BRURIE BRURIE BRURIE BRULRIE
BRGET HHO %2 |ATAGTER |22 (@-0) |EREB(X)] $H0 x2 |fATE (22 (-0) |ZEREB(X)| #1H0 x2 |fATE (22 (0-0) |ERMEB(X)| #H0 x2 |JHAFE (22 (0-0) |EZREH(X)| $H0 x2 |FAFTE (22 (0-0) |EREH(X)
NAARAFRER [1775%] [4175%] [H1775%] [H1775%] [H115%]
xe wusmomeELse | 30,8 27.4 27.4 20.8 24.2
EEULIH BORIELS [64%] 32.8 2.0 (0) [68%] 29.5 2.1 (m) [68%] 27.4 0.0 [49%] 20.8 0.0 [57%] 21.8 2.4 (h)
BEREBI-IVICEDIGNG, HZE (7) 481H(B) 4H28H(H) 5H4H(%) 6H2H(H) 6H4H(N)
aELE N aELE N = N = - = -
EREGE BELHO |FIHFTEQ| AR (@-0) EEH:;_ A,Cﬁ BELHO |FIHFTEQ| 2R (@-0) EEH:;_ A,Cﬁ RELHO (FIHETEQ|ZR (0-0) @EE:;_ \,Cﬁ RELHO (FIHETEQ|ZR (0-0) EEE:;_ "c'ﬁ RELENO (FIHETEQ|ZR (0-0) EEE:;_ ,,Cﬁ
ﬂﬂﬁﬁgﬂﬁ)\“‘fﬁ?x [Hjjj%o/o] (%%Fﬁ@l) [tljjj%%] (%%Fﬁ@l) [Hjjj%o/o] (%%Fﬁgi) [Hjjj%o/o] (%%Fﬁgy) [Hjj]%%] (%%Fﬁé&)
H I B] 0.0 0.0 0.0 — 0.0 0.0 0.0 — 0.0 0.0 0.0 — 0.0 0.0 0.0 — 0.0 0.0 0.0 —
tH oI A BT —[0%] 24.9 — A(55),8(29),c4)| —[0%] 25.5 — A(55),8(29),c4)| —[0%] 25.2 — A59),8(32),c4)| —T0%] 26.9 — A60),831),c(4)| —T0%] 26.2 — A(60),B(31),C(4)
HERES 481H(B) 4H28H(H) 5H4H(%) 6H2H(H) 6H4H(N)
Epali RHDFL REHE2 aEPALCH REAFL [Tk
gy [ Bk B 94.2% 94.2% 78.5% 79.7% 79.7%
M:E (B)MA |AHS/BifE 75.2% 63.4% 60.1% 70.7% 72.9%
HEREZSE =1 (C)HEAHE (B)./(A) 79.8% 67.3% 76.6% 88.7% 91.5%
PN 189.0 306.0 196.0 109.3 81.7
RES| IVRERE 33.0 72.0 67.0 40.0 15.0
ait 222.0 378.0 263.0 149.3 96.7
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(8%) HHOTK=EHR B LI E E HEE AL RS

|3
15Fh VAL VAT VAL VAT VAT
= 4818(8) 4828H(H) 5H4H(T) 6H2H(H) 6848 (X)
= S
: FiFAEEHRINSER 1285309~ 1365004 | 11650053~ 11653053 | 11653053~ 12650053 | 120§~120530%) 128530~ 135
— & = & B &
s (°C) 17.9 22.9 24.7 22.9 23.1
) IUV7PHE (k1) 839.8 745.4 733.0 790.0 952.8
(F) AL THANUDHIRT ZREBRHES (N) 132.5 67.1 83.1 98.6 118.4
AL THSHUHERL TRV RERES (AH) ) ) ) ) )
L JEFH 299.8 300.8 300.2 299.2 335.4
) —H&KH 73.5 54.3 65.8 65.4 54.7
V7 |w HhEh 18.7 20.1 19.4 16.1 16.7
(zz) | #BH |© N\A ARG REER 30.0 29.4 27.2 18.8 19.0
LED (D Mg & E )\ AT R 15.8 20.8 18.6 22.1 19.7
- © A EIESD) 906.8 664.3 712.2 767.3 857.2
iRt AL EIESD) 6.0 2.5 13.3 4.7 16.8
TUPHtEHE 1,548.3 1,206.3 1,261.3 1,342.2 1,508.2
e | EIEL ChADUDIEIRS 2 m s (57K N N N N N
BKEES | © e T 125.4 159.2 156.8 195.6 181.4
IHHNEE [0 HEBRHOBINEEE S - ERMLISER G A 225.7 A 128.9 A 87.3 A 195.0 A 220.0
maE - o KB - B A 357.4 A 1728 A 284.2 A 161.6 A 154.0
e hit 839.8 745.4 733.0 790.0 952.8
N\\ \\\
BHRAR (BliK1) -HEDEHREE (BIK3) DM A-IH OREY (BlIfE1) DM A-JK
IUVPEEE -IU7EEH BI OEHIFZTIHERENFHES
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